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___________________________________________________________________________ 

 Answer questions 1, 2 and 4 in the green book, and questions 3 and 5 in the blue 

book. 

 This is a closed-book assessment. 

 You may use silent, non-programmable calculators. 

 Where applicable, round all calculations to two decimals, unless stipulated otherwise. 

 Indicate your index number (next to your name on the attendance register) next to 

the UJ logo on your all your scripts. 

 Read the questions carefully and answer only what is required. 

 Number your answers clearly and correctly as per the question paper. 

 Write neatly and legibly on both sides of the paper in the answer book, starting on the first 

page. 
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QUESTION 1 

MCQ – All topics 

(10) 

18 Minutes 

Choose the correct option (letter) and write it next to the question number in your script. 

1.1 How is the required working capital in the operations of investments treated in 

discounted cash flow analysis? (1) 

a. Added to the cost of investment. 

b. Added to cash inflows when recovery occurs. 

c. Both a and b. 

d. Working capital does not influence investment decisions. 

1.2 Which of the following statements is true when deciding between two 

alternatives? (1) 

a. Variable costs may not be relevant when the decision alternatives have 

the same activity levels. 

b. Variable costs are not relevant when the decision alternatives have 

different activity levels. 

c. Sunk costs are always relevant. 

d. Fixed costs are never relevant. 

1.3 You are considering a particular short-term pricing decision. (1) 

a. You should place more emphasis on qualitative factors that will influence 

the decision. 

b. You should consider both quantitative and qualitative factors that will 

influence the decision. 

c. You should place more emphasis on quantitative factors that will 

influence the decision. 

d. Qualitative factors do not influence the decision. You should ignore this 

aspect in your decision-making process. 

1.4 Your manager requested an evaluation of special orders where firstly, excess 

capacity is available and, secondly, a shortage of capacity exist. What is the 

difference in your calculation between the two options? (1) 

a. Include incremental variable cost in your calculation. 

b. Ignore unavoidable fixed cost in your calculation. 

c. Ignore sunk cost in your calculation. 

d. Include opportunity cost in your calculation. 
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1.5 Which factor, indicated below, would you consider in your decision to 

outsource a part of a machine produced by your company? (1) 

a. The suppliers’ cost of direct materials. 

b. The original cost of equipment currently used for the production of that 

part. 

c. Historical design costs used to develop the current composition of the 

part. 

d. Whether the supplier is reliable. 

1.6 Which of the following costs always differ among future alternatives? (1) 

a. Fixed costs 

b. Historical costs 

c. Relevant costs 

d. Variable costs 

1.7 The net present value method, used in capital budgeting, focuses on _______. (1) 

a. Cash flows and required cost of capital 

b. Inventory cost and required cost of capital 

c. Working capital and required cost of capital 

d. Profit and required cost of capital 

1.8 The contribution income statement highlights: (1) 

a. Variable and fixed costs 

b. Gross profit 

c. Product and period costs 

d. Different product lines or segments of the company 

1.9 In multi-product CVP analysis, focusing on target net income rather than 

operating income: (1) 

a. Will increase the break-even point. 

b. Will decrease the break-even point. 

c. Will not change the break-even point. 

d. Does not allow the calculation of the break-even point. 
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1.10 Siphiwe sells handbags and shoes made from ostrich leather. Siphiwe’s 

normal monthly sales are 200 handbags and 300 pairs of shoes. Handbags 

earn a contribution of R150, and each pair of shoes earns a contribution of 

R120. During December, Siphiwe sold 250 handbags and 250 pairs of shoes. 

Siphiwe asked you if the break-even volume for his business would change if 

the sales trend of December continues in the future. What is your answer? (1) 

a. You need more information, such as the total fixed cost, to answer 

Siphiwe. 

b. The break-even volume will increase. 

c. The break-even volume will decrease. 

d. The break-even volume will remain the same. 
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QUESTION 2 [35 MARKS] 

PART A: Multi-product CVP 27 minutes 

PART B: Limiting factors 36 minutes 

This question consists of two parts. 

PART A 

Sjoe-Sjoe Ltd manufactures wooden chopping and serving boards. Raw vegetables and meat 

are cut on chopping boards while the serving boards are used for serving snacks and braai 

meat to guests. Both boards are sealed with a mixture of mineral oil and beeswax to ensure 

that it is liquid and stain proof. The serving boards have dipping trays, grooves and grabbing 

slots to ensure optimum use and is larger than the chopping boards. The demand for serving 

boards recently increased after a photo of a well-known soccer player, using the serving board 

at a braai, was posted on social media. 

Total sales revenue for chopping boards amounts to R240 000 and equals the total sales 

revenue of serving boards. Selling price per chopping board is R600 and R750 per serving 

board. It is expected that the sales volume of the serving board will increase by 200% in the 

next month. The following information is available: 

 Chopping Serving Total 

Direct material:    

Wood per meter R90 R90  

Wood required per unit One-third of a 

meter 

Two-thirds of a meter  

Mineral oil per unit R0.20 R0.25  

Beeswax per kg R20 R20  

Beeswax required per 

unit 

5 g 5 g  

Direct labour:    

Rate per labour hour R50 R50  

Time required per unit 45 min 15 min longer than chopping  

Variable manufacturing 

overheads per unit 

R10.50 

(18 min) 

R14 

(24 min) 

 

Fixed overheads per month   ? 

Contribution   R402 624 

Operating income   R337 624 
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REQUIRED 

2.1 Calculate the monthly break-even for Sjoe-Sjoe Ltd. Show the break-even 

units for both cutting and serving boards. You must use the increased 

sales volume of the serving board where applicable. (10.5) 

2.2 Calculate the number of cutting and serving boards that Sjoe-Sjoe Ltd 

must sell to make a monthly net profit (after tax) of R300 000. Assume a 

tax rate of 28%. (4.5) 

2.3 State whether the break-even units will increase or decrease if the fixed 

cost increased to R75 000. (1) 

2.4 State whether the break-even units will increase or decrease if the selling 

price increased by 10% for both cutting and serving boards. (1) 

PART B 

Due to forest fires in the area, there is a shortage of wood. Sjoe-Sjoe Ltd will only be able to 

purchase 500 meters of wood. Six of the workers also lost their homes in the fires and need a 

month’s leave to get back on their feet. This will result in a loss of 260 hours. Machine hours 

are limited to 700 hours per month. 

Sjoe-Sjoe Ltd is bound in a fixed contract of 100 units of serving boards per month. Assume 

that sales equal demand. 

REQUIRED 

2.5 Calculate the optimum product mix for Sjoe-Sjoe Ltd for the month. You 

must use the increased sales volume of the serving board where 

applicable. (20) 
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QUESTION 3  [10 MARKS] 

Capital budgeting  18 Minutes 

Glow (Pty) Ltd (“Glow”) operates in the entertainment industry and provides wrestling shows 

across the country. Lucky Casino’s owners offered Glow a contract to host shows at Lucky 

Casino. The following information is available: 

 Year 0 Year 1 Year 2 Year 3 

Cost of investment R1 000 000    

Expected income  R400 000 R450 000 R500 000 

Depreciation  (R50 000) (R50 000) (R50 000) 

Other expenses  (R100 000) (R90 000) (R110 000) 

Performance indicators: 

 Glow uses a payback period of two and a half years to evaluate potential investments. 

 Glow uses an accounting rate of return (ARR) of 72% (based on average investment) 

to evaluate potential investments. 

 Glow uses a weighted average cost of capital of 11% to decide whether to take up a 

potential project. 

You may ignore income tax implications. 

REQUIRED: 

3.1 Determine the payback period and advise whether Glow (Pty) Ltd should 

accept the offer or not. (3½) 

3.2 Determine the discounted payback period and comment on your answer. 

Compare your answer to 3.1 and provide your comments. (3½) 

3.3 Calculate the accounting rate of return (ARR) and comment on your 

answer. (3) 
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QUESTION 4  [35 MARKS] 

Capital budgeting  63 Minutes 

Moo Ltd (“Moo”) is one of the leading farming companies in the North West province. The 

company normally invest in the farming of crops that are sold for a profit to the market. The 

board of the company is considering whether to invest in milk cows. If the investment is 

undertaken, revenue will be obtained from the sale of milk, and it is expected that the 

investment will be for five years. The following information is available: 

 Moo will make an initial investment of R15 000 000. Moo purchased a milk machine 

(included in the initial investment) for R3 500 000 that should have a salvage value of 

R500 000 at the end of the investment period. The milk machine is depreciated at 20% 

per annum. Moo estimates that the machine could be sold to a start-up for R200 000 

at the end of year five. 

 An initial investment in inventory (working capital) of R300 000 will be required at the 

beginning of the project. It is expected that 60% of the working capital will be recovered 

at the end of the third year and the balance at the end of the investment. 

 Moo expects to sell two million litres of milk per year. Each litre of milk will be sold for 

R6 in the first year, and the price is expected to increase by 8% year on year. 

 Cow feed will initially cost R5 500 000 per annum, with the cost increasing by 5% every 

second year (in other words will increase by 5% in year three and again in year five). 

 Monthly wages of the farmworkers are R310 000. The workers’ salaries will increase 

by 6% annually. 

 A farming expert’s services will be sourced at the end of the project to determine 

whether the investment in the milk cows should continue. The expert will be paid a 

once-off fee of R250 000. 

 Moo uses a weighted average cost of capital of 16% to evaluate whether to invest in a 

potential investment project. 

 You may assume an income tax rate of 28%. Tax is paid in the year of assessment. 

REQUIRED: 

4.1 Calculate the net present value to determine whether Moo Ltd should 

invest in the milk cows. Show all calculations and where applicable round 

your calculations to the nearest Rand. (35) 
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QUESTION 5  [10 MARKS] 

Special order  18 Minutes 

John manufactures high-quality diaries. Doe wants to order 50 personalised diaries for his 

staff. Designing and printing of a name will cost John R9 per diary. John does not have the 

necessary equipment or expertise to design or print the name on a diary and will have to 

outsource these functions to Mr Soap. John provided you with the following information: 

 Special order Current sales 

Selling price At a 30% discount R90.00 

Direct material R32.50 R32.50 

Direct labour R12.50 R12.50 

Variable manufacturing overheads R5.00 R5.00 

Maximum capacity and current production are 400 units per month. Fixed manufacturing 

overheads are R5 000 per month. 

REQUIRED 

5.1 Should John accept the one-time special order? Show your calculations. (8) 

5.2 At what price will John be indifferent between accepting the special order 

and continuing to sell the diaries to his current customers? (2) 

 

Paper total [100] 
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